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Char # S = "245" -

S ASCIF

S(o) = 2 10 = 48

S[1] = 14 -4 = 49

S[2] = 15
·2 = 50

13 = 51

5937 = 10
141 = 52

j1 = 53
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int Vo = S101-10",
= 50 - 48
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Vi = S[1] - 0
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-1 int Jase

vint2-
+ inst-to-int (char * s) &

in+v = 0 ; 112451
intd ;
int i ;

While (s(i) ! = "10'3 v = 0
Jase

V = v* v = 28 d = Scij-10' -
v = 20

v = v + di E
v = 24

i = i + 1

3 V = 240

v = 245
return vis -

3
-

int to string printf(" % &" , v) ;

int v = 245;
245/10 = 24

int do
,

d ., da

Fascii
245%/10 = 5

10d
.

= v %j
= 245% 10

= 5 -> charc = do +0

v = v/
= 24

di = u % lo
as i

= 24 % 10

= L ->



v = u/10
= 2

dz =
v % 10

= 2% 10 uscio
= --

v = v/10

=O one !

Binary 10
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int v = 061018 10/2
2

5

int d 060101
↑ a

do= v % z

= 1010 % 2

= O

v = v /2
I 0101

d = v % z

= ooQ
= 1



main() [ numconu 245 -02-01

info

11 steps ↓ in pot Strict

Goo base 2[= parse - args() Goo bas16

? tool base If

V = conv-to-int()

output-bases()

E

Main() E

Jool base 2 ;
Loo Base 10
Gool base 16;

parse_arasLarge, argu , Abasez,Sbasslo

Stasels) ;
3



Struct config-st2 input-base =

char input [MAX] ;

bool base2 ;
bo base to;

bool base16;

3

main() S

Struct config-st config;-
Cp . basez = False.

parse _ ungs Largejarg , A confing)
vint32-

- 0;
V = conv-str-to-inte input, cp.mnutbase)

3

int perse -args (int arge , char argv[],
struct configst *CP)

Cp-> base2 = False ;

< p > bascio = False ,




